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Question Bank: 12,655 Questions

Primary 6 Math » Primary 6 Math (Prelim) 1 pt

Each question carries 1 mark. For each question, four options are given. One of them is the
correct answer. (20 marks)

Round 1789 to nearest hundred.

A. 1700
1790

¥ C. 1800
D. 2000

Question Type:

Randomize Answers:

Date Added:
Last Modified:
QID#:

Question 2

Muiltiple Choice
No

Mon 2nd Aug 2021
N/A

28,593,849
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I the dizgram below, ihe letters M, A, T and H are drawn an a square
grid,
Which latter has both parzliel ines and perpandicular fines?
AL M
A
C. T
v D. H
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,837
Question 3 Primary 6 Math » Primary 6 Math (Prelim)
in the figure below, AOD and COE are straight lines. /ADB =11" and
ZBOE=28". Find ZCOD.
G
A
1
2805
O
E
A. 170
B. 28°
v C. 390
D.
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Question Type: Multiple Choice
Randomize Answers: No

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,838

Question 4

In the square grid below, which shape is a rhombus?
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Mon 2nd Aug 2021

Last Modified: N/A

QID#: 28,593,839

Question 5 Primary 6 Math » Primary 6 Math (Prelim) 1 pt

The figure below shows a cube.

Which of the following is not a net of the cube?
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C.
L
v D
E
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,840
Question 6 Primary 6 Math » Primary 6 Math (Prelim) 1 pt
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The pia chart below shows how Joseph spent his ime on a Salurday.

He spent an equal amount of time on eating and doing homework.
Which bar graph best represents the information in the pie chart?

A.
Types of Activilies
Amound of
lime spent
i
Others Elug-plng Ealing Wealching Dalng
TV hormework
B.
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Types of Aclivilias

Amopunt of
B sperd

A Y ]

Others  Slesping  Eating Walching Doing
Y homework

v C
Types of Activilies
Amount of [
tirme spand
i B % B
Others  Sleeping Eating  Walching Doing
TV homéewark
D.
Types of Activities
Amaunl of
lime spenk :
Othars  Sleeping Ealing Walching Deing
™ homework
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,841
Question 7 Primary 6 Math » Primary 6 Math (Prelim)
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Arrange the following fractions from the largest to the smallest.

. 1
T 5

o] &

Y 1 2
"M §* T°
4 2 2
8" o 7
v D

0ol

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Mon 2nd Aug 2021
Last Modified: N/A

QID#: 28,593,842
Question 8

https://www.classmarker.com/a//tests/test/?test_id=1791263

2

4
g ' 11

Smallest

Lt
11

el &

Primary 6 Math » Primary 6 Math (Prelim)
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Brian and Chares had some stickers. A fist, the number of siickers

4 3
Brian had was } of the totad numiber of stickers.  Than, Brian sold E afl

his stickers. Find the ratio of the number of stickers Bran had at the
and lo the number of stickers Charles had at the end,

A. 1:03
1:07
C. 5:06
v D. 514
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,843
Question 9 Primary 6 Math » Primary 6 Math (Prelim) 2 pts

A thumb drive and a paper clip are placed next to a scals. Find the
difference in their lengths. ;

A. 12cm
1.6 cm
C. 22cm
¥ D. 24cm
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 2nd Aug 2021
Last Modified: N/A
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Question 10 Primary 6 Math » Primary 6 Math (Prelim) 2 pts

The square grid bafow shows the map of a park and its landmarks. Tha
elide ks norh of the lent.,

Slide E-'.'I.I’Ing

Tent

Pand nr&I

Suresh is standing at a location north of the garden and souih-west of
the swing. He B facing the pond. Which landmark will he be facing
when he turns 45° clockwise?

v A, Tent
B. Slide
C. Swing
D. Garden
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,845
Question 11 Primary 6 Math » Primary 6 Math (Prelim) 2 pts

A and B ars whole numbers. A has execlly 2 faclors. B has exactly 4
factors. Cls he produci of A and B. At leasi how many factors does
C heva?
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 12

Muiltiple Choice
No

Mon 2nd Aug 2021
N/A

28,593,846

Which digit in 31.902 is in the tenths place?

A 1

0

C. 3
v D. 9

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 13

In the number line below, what is the value of A7

Multiple Choice
No

Mon 2nd Aug 2021
N/A

28,593,850

ClassMarker - Manage Test

Primary 6 Math » Primary 6 Math (Prelim)

Primary 6 Math » Primary 6 Math (Prelim)

A. 05

v B. 055

C. 08
D. 0.65

=i

https://www.classmarker.com/al/tests/test/?test_id=1791263
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T
D.45
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 14

ClassMarker - Manage Test

Multiple Choice
No

Mon 2nd Aug 2021
N/A

28,593,851

Find the value of 18 - 2p + 2 x 3p when p = 4.

v A 34
B. 2
C. 96
D. 144

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 15

Multiple Choice
No

Mon 2nd Aug 2021
N/A

28,593,852

Which one of the following is likely to be the length of a school bus?

A. 12m
v B. 12m

C. 120 m

D. 1200 m

Question Type:

Randomize Answers:

Date Added:
Last Modified:
QID#:

Question 16

Multiple Choice
No

Mon 2nd Aug 2021
N/A

28,593,853

https://www.classmarker.com/al/tests/test/?test_id=1791263
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marks)

to attempt after the test has been completed.

Question Type: Essay

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,858

Correctly answered feedback

(8k + 6) + k = (5k + 6)
Ek+6

()

(5k +6) + 3

5H+Ej
3

Ans: {

Incorrectly answered feedback

(8k + 6) + k = (5k + 6)
Ek+6

(L)

(5k +6) + 3

5H+ﬁj
3

Ans: {

Question 17

https://www.classmarker.com/a//tests/test/?test_id=1791263

ClassMarker - Manage Test

Farid had (4& + ) penclls.  He bought another & pencils and packed alf
the pencils equally into 3 boxes. How many pancils wers thers in 2ach
box?  Give your answer in terms ol k in fha simplest form,

@

This question is designed for extended answers that parent/ teacher will have to assign and guide child

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Primary 6 Math » Primary 6 Math (Prelim)

0 pts
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There are & shaded squares in the figure below. Shada 2 more squares
to form a saymmatric figure with AB as the line of symmetry.

(1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,859

Correctly answered feedback

A
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Incorrectly answered feedback

A

Question 18 Primary 6 Math » Primary 6 Math (Prelim) 2 pts

A, B and C are different 2-digit numbers. Their average is 30. Find the greatest possible difference
between B and C.

Accepted answers:

v 59

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,860

Correctly answered feedback
30x3=90

90-10-11=69

69-10=159

Ans: 59

Incorrectly answered feedback

30x3=90
90-10-11=69
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69-10=59
Ans: 59

Question 19 Primary 6 Math » Primary 6 Math (Prelim) 1 pt

Jane has $31.70. She has $0.50 less than Bala. Mr Ten has 10 times as much money as Jane.

How much money does Bala have?

Accepted answers:

v $32.20

v $32 20

v $32.20

v $32.20

v $32.20

v $32.20

v 322

v 32 .20

v 32.20

v 32.20

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,894

Correctly answered feedback

$31.70 + $0.50 = $32.20

Incorrectly answered feedback

$31.70 + $0.50 = $32.20

Question 20 Primary 6 Math » Primary 6 Math (Prelim) 1 pt

Jane has $31.70. She has $0.50 less than Bala. Mr Tan has 10 times as much money as Jane.

How much money does Mr Tan have?

Accepted answers:

$317
https://www.classmarker.com/a//tests/test/?test_id=1791263 16/52
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v

v 317

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,861

Correctly answered feedback

$31.70 x 10 = $317

Incorrectly answered feedback

$31.70 x 10 = $317

Question 21 Primary 6 Math » Primary 6 Math (Prelim) 2 pts

This year, ABC Sports Club had 150 members. Last year, it had 120 members. Find the percentage
increase in the number of members this year.

Accepted answers:
v 25%

v 25

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,862

Correctly answered feedback

30
r—

= 100 =25
150-120=30
Ans; 2‘53‘&

Incorrectly answered feedback
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30
T 100 = 25

150 -120=30
Ans; 2‘5%

Question 22 Primary 6 Math » Primary 6 Math (Prelim) 2 pts

Jake has $y. Kyra has §(y + 14)mora than Jake. Kyra has $68. How
much money does Jake have?

Accepted answers:
v $27

v 27

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,863

Correctly answered feedback

Sy +5Sly + 14) = {2y + 14
568 -514 =554

$5¢ A2 527
Aris; 527

Incorrectly answered feedback
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Sy +5ly +14) = $(2y + 14)
$68 - $14 =554

$5¢ A $27
Aris; $27

Question 23 Primary 6 Math » Primary 6 Math (Prelim) 3 pts

Rectangular tanks A and B contained some water. Tha height of the
water level in tank & was equal to that in lank B at first. Tank A had a
base area of 3400 cmé and Tank B had a base area of BS0 em®.

8E00 cm? of water was poured oul Irom Tank B and the height of e

water lavel decreased by 40% in Tank B,
Some water was added into Tank A and the height of the water level

increased by 80% in Tank A,

Find the total amount of water in the two tanks in the end.

Accepted answers:
165750

165 750

165,750

165, 750

165,750

T T U N NN

165, 750

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,871

Correctly answered feedback

40% of B = 8500

100% of B = (8500 / 40) x 100 = 21250
60% of B = (8500 / 40) x 60 = 12750
21250/850 = 25

25 x 3400 = 85000

85000/ 100 x 180 = 15300

12750 + 153 = 165750
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Incorrectly answered feedback

40% of B = 8500

100% of B = (8500 / 40) x 100 = 21250
60% of B = (8500 / 40) x 60 = 12750
21250/ 850 = 25

25 x 3400 = 85000

85000/ 100 x 180 = 15300

12750 + 153 = 165750

Question 24 Primary 6 Math » Primary 6 Math (Prelim) 2 pts

Rectangular tanks A and B contained some watar. Tha height of the
waler level in tank A was equal to that in lank B at first. Tank A had a

basa area of 3400 cm? and Tank B had a base area of B0 cm”,
8E00C cm? of water was poured out from Tank B and the height of Lhe

water lavel decreased by 40% in Tank B,
Some water was added into Tank A and the height of the water level

increasad by 80% in Tank A,

Some water was then transferred from Tank A lo Tank B without
spilling urilil the height of the water leve! in both tanks was the same
again.  What wes the height of the new water level in each tank?

Accepted answers:
v 39
v 39cm

¥ 39cm

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,878

Correctly answered feedback

165750 / (3400 + 850) = 39

Incorrectly answered feedback

165750 / (3400 + 850) = 39

Question 25 Primary 6 Math » Primary 6 Math (Prelim) 1 pt
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Ze Hui had 24 marbles al first.  He gave § marbles to his brother.  Whal

fraction of his marbles did he give to his brother?  Express vour answer
as a fraction in ils simplest form.

Accepted answers:

v 1-Apr

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,865

Correctly answered feedback

51
24 4

1
ﬂﬂS:?

Incorrectly answered feedback

Question 26

Primary 6 Math » Primary 6 Math (Prelim) 2 pts

In the figure below, WZY and XYZ are trangles. £ YWZ = 749,
LXAZ =00 and WY =Y. Find WYX

W
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Accepted answers:
v 58 degrees
v 58 degree

v 58

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,866

Correctly answered feedback
180° - 70° - 70° = 32°

90° - 32° = 58°

Ans: 58°

Incorrectly answered feedback
180° - 70° - 70° = 32°

900 - 32° = 58°
Ans: 58°

Question 27 Primary 6 Math » Primary 6 Math (Prelim) 0 pts

In the square grid balow, two sides of 3 paralielogram have been drawn.
Each sife is drawn by jpining dots on the square grid with a straight line.
Iry thet sarme way,

i) complete the drawing of the parallelogram

ii) draw a trapezium in the square grid with the same perimeter as the parallelogram such that it does
not overlap with the parallelogram.

(2 marks)
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This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,857
Correctly answered feedback
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Incorrectly answered feedback
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Accepted answers:

v 108 degrees

https://www.classmarker.com/a//tests/test/?test_id=1791263

Measure and write down the size of an obtuse angle in the parallelogram.

1 pt
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¥" 108 Degree

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,867

Correctly answered feedback

108°

Incorrectly answered feedback

108°

Question 29 Primary 6 Math » Primary 6 Math (Prelim) 4 pts

Jonathan had flve identical cuboids.  The volume of each cuboid &
75 cm®, He stacked the five cuboids on top of one anolher neatly to
[orm 8 bag cube as shown balow.

L 1
He then took cne of 1he five cuboids and dioped it into a gail of red
painl.  Find the araa of the cubodd that was painied ned

Accepted answers:
v 630
¥ 630 cm square

v 630cm square

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,868
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Correctly answered feedback

675 x5 = 3375

VY3375 =15
15+-5=3
675+3 =225

3 xXx15=45

45 x 4 =180
15x 15 =225
225 x 2 =458
450 <18y 5 630

Incorrectly answered feedback

675 x5 = 3375

V3375 =15
15+5=3
675+3 =225

3 xXx15=45

45 x 4 =180
15x 15 =225
225 x 2 =450
450 +« 1Bu = B30

https://www.classmarker.com/a//tests/test/?test_id=1791263

ClassMarker - Manage Test
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Question 30 Primary 6 Math » Primary 6 Math (Prelim) 2 pts

The tabla below shows the carpark charges for a shopplng mafl.

L

CARPARK CHARGES
7 a.m. lo B p.m. £0.60 for every 30 min

Nr Raj parked his car from 8.30 a.m. © 12 noon in the shopping mail.
How much did he pay?

Accepted answers:

v $4.20
v $4.20
v $4 20
v $4.20
v $4.20
v $4.20
v $4.20
v 42

v 420
v 4.20

v 4.20

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,869

Correctly answered feedback

8.30 am to 12 am = 3hrs 30 mins
7 x $0.60 = $4.20

Incorrectly answered feedback

8.30 am to 12 am = 3hrs 30 mins
7 x $0.60 = $4.20

Question 31 Primary 6 Math » Primary 6 Math (Prelim) 2 pts
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In the figure below, WXYZ is a trepezium. W2 is parallel to XV,
LXWY = 529, AWYE = 86° and LWZY = B8°. Find 2 WXY.

W

Accepted answers:
v 69 degree
v 69 degrees

v 69

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A

QID#: 28,593,870

Correctly answered feedback

180° - 55° - 66° = 59°
590 + 520 = 111°
180° - 111° = 69°
Ans: 69°

Incorrectly answered feedback

180° - 55° - 66° = 59°
590 + 520 = 111°
180° - 111° = 69°
Ans: 69°

Question 32 Primary 6 Math » Primary 6 Math (Prelim) 2 pts

Jerry had 110 buns. He ate 2 buns and packed the remaining buns equally into 6 packets. How many
buns were there in each packet?

Accepted answers:
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v 18

¥ 18 buns

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,872

Correctly answered feedback

110-2=108
108/6=18
Ans: 18

Incorrectly answered feedback

110-2 =108
108/6=18
Ans: 18

Question 33 Primary 6 Math » Primary 6 Math (Prelim) 3 pts

In the figure below, EBCD k& a trapezium. ED is paralfe! 1o BGC.
SFAR = 74% and ZEBC = 1137 Find the sum of 2w, £, Ly and £r.

Accepted answers:
v 219 degrees

¥' 219 degree

Question Type: Free Text
Date Added: Mon 2nd Aug 2021

https://www.classmarker.com/a//tests/test/?test_id=1791263 29/52


https://www.classmarker.com/a/tests/qb/manage/?test_id=1791263&question_id=28593872
https://www.classmarker.com/a/tests/qb/manage/?test_id=1791263&question_id=28593872&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1791263
https://0cm.classmarker.com/6226088_BJ87JQ30.jpg

11/1/21, 10:29 AM

Last Modified: N/A
QID#: 28,593,873

Correctly answered feedback

180° - 74° = 106° (Angle y + Angle z)
180° - 113° = 67°

180° - 67° = 113° (Angle x + Angle w)
113° + 106° = 219°

Incorrectly answered feedback

1800 - 74° = 106° (Angle y + Angle z)
180° - 113° = 67°

180° - 67° = 113° (Angle x + Angle w)
113° + 106° = 219°

Question 34

In the figurs below, ABCD is a square and ECD is an isosceles friangle.
LDEC = 78 and £ZABE = 38°. Find ZBEC.

A

780

J8°

Accepted answers:
v 89 degrees
v 89 degree

v 89

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,874

Correctly answered feedback

https://www.classmarker.com/a//tests/test/?test_id=1791263

ClassMarker - Manage Test

Primary 6 Math » Primary 6 Math (Prelim)
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900 - 38° = 520

180° - 78° = 120°
120°/2=51°

90° - 51° = 39°

180° - 39° - 520 = 89°
Ans: 89°

Incorrectly answered feedback

90° - 38° = 52°

180° - 78° = 120°
120°/2=51°

90° - 51° = 39°

180° - 39° - 520 = 89°
Ans: 89°

Question 35 Primary 6 Math » Primary 6 Math (Prelim) 2 pts

A bicycle cost $617.10 after a discount of 15%. What was the price of the bicycle before the discount?

Accepted answers:
v $726

v 726

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,875

Correctly answered feedback

$617.10 /85 = $7.26
$7.26 x 100 = $726
Ans: $726

Incorrectly answered feedback

$617.10 /85 = $7.26
$7.26 x 100 = $726
Ans: $726

Question 36 Primary 6 Math » Primary 6 Math (Prelim) 1 pt

The distance between two points is 267 cm. Express this distance in metres.

Accepted answers:
2.67m
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v

v 267m

v’ 2.67metres

v’ 2.67 metres
v 2 67m

v 2.67M

v’ 2 67 metres
v’ 2.67 metres
v 2.67m

v 2.67m

v 2.67m

v 2.67m

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,876

Correctly answered feedback

267cm = 2.67m
Ans: 2.67m

Incorrectly answered feedback

267cm = 2.67m
Ans: 2.67m

Question 37

https://www.classmarker.com/a//tests/test/?test_id=1791263
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Primary 6 Math » Primary 6 Math (Prelim)

1 pt
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Tha fne graph balkow shaws the nurmber of pens Sold in & DookstoE aach
masih Trom July o Dacember in 2017,
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In which two months were the number of pens sold the same?

Accepted answers:
v September and November
¥' november and september
v september, november
v september ,november
v september , november
v november, september
¥ november ,september

¥ november , september

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,877
Question 38 Primary 6 Math » Primary 6 Math (Prelim) 2 pts
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masih Trom July o Dacember in 2017,

ClassMarker - Manage Test

The Ene grapd balow showes the nurmber of pens sold in & DoOXsione aach

Find the total number of pens sold from August to November.

Accepted answers:
v 610

¥ 610 pens

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,880

Correctly answered feedback

120 + 190 + 110 + 190 = 610

Incorrectly answered feedback

120 + 190 + 110 + 190 = 610

Question 39

https://www.classmarker.com/a//tests/test/?test_id=1791263

Eﬂ -
— ——
— 3 m—
. ™ o
ol F N T S i
160 O A S— ; e
Mumber of =7 - S— ; :
ns sold = =1 : s : e e
F'" 1'|:ﬂ _"‘Ft_._ i il :
I S R : : .
sp — e
; i i -
o i :
Jul A Sep Cict by Des

Primary 6 Math » Primary 6 Math (Prelim)

34/52


https://0cm.classmarker.com/6226088_Q25PSBKQ.jpg
https://www.classmarker.com/a/tests/qb/manage/?test_id=1791263&question_id=28593880
https://www.classmarker.com/a/tests/qb/manage/?test_id=1791263&question_id=28593880&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1791263
https://0cm.classmarker.com/6226088_R50MU5CY.jpg

11/1/21, 10:29 AM

masih Trom July o Dacember in 2017,

ClassMarker - Manage Test

The Ene grapd balow showes the nurmber of pens sold in & DoOXsione aach

graph. Choose the correct answer for the statement below.

number of pens sold from August to September.

A. TRUE
B. FALSE

¥ C. Not Possible to Tell

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Mon 2nd Aug 2021
Last Modified: N/A

QID#: 28,593,847

Question 40

https://www.classmarker.com/a//tests/test/?test_id=1791263
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The statement below is either true, false or not possible to tell from the information given in the line

Statement: The increase in the number of pens sold from June to July was less than the increase in the

Primary 6 Math » Primary 6 Math (Prelim)

1 pt
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Tha fne graph balow shiws (ha mumber of pens sold in & bookslonz aach
masih Trom July o Dacember in 2017,

A. TRUE

v B. FALSE

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 41

Accepted answers:

v 60

v 60 cupcakes

chotolate cupcakes.

C. Not Possible to Tell

Multiple Choice
No

Mon 2nd Aug 2021
N/A

28,593,848
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The statement below is either true, false or not possible to tell from the information given in the line
graph. Choose the correct answer for the statement below.

Statement: The number of pens sold in July was three times the number of pens sold in May.

Primary 6 Math » Primary 6 Math (Prelim)

.1
Mra Tay baked some cupcakes. 3 of the cupcakes that sha had baked

1
wore vanilla cupeakes, & of the remeining cupcakes wers lyches
cupcakes and the rest were chocolate cupeskes. She baked 36
How many cupcakes did she bake in tolal?

https://www.classmarker.com/a//tests/test/?test_id=1791263

2 pts
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Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,879

Correctly answered feedback

1_5
4 20

1 3
1=2=3
3_15
4 20
15 5 3
_._I.._:,,_.__
20 1 70
Ans: 60

Question 42

https://www.classmarker.com/a//tests/test/?test_id=1791263

ClassMarker - Manage Test

Ixgd=12
3I6+12:=3

3x20=60

Ixgd=12
3I6+12:=3

3x20=60

Primary 6 Math » Primary 6 Math (Prelim)

1 pt
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The figure below is made up of identical cubes. How many cubes are
ihara in ihe figure?

b

Accepted answers:

v 12

¥ 12 cubes

Question Type: Free Text

Date Added: Mon 2nd Aug 2021

Last Modified: N/A

QID#: 28,593,881

Question 43 Primary 6 Math » Primary 6 Math (Prelim) 2 pts

Find the perimeter of the isosceles tiangle shown below.

2
g ™

= | N
=

Accepted answers:

v 132/35m

Question Type: Free Text
Date Added: Mon 2nd Aug 2021
Last Modified: N/A
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QID#:

28,593,882

Correctly answered feedback

3 5
--I'--—+E= Eq.ﬁ_;.ﬂ
5 7 5 35 35 35
_ 67
ag
32
- 135

32
Ans: 1—m
35

Incorrectly answered feedback

E-I'--EL+E= E E E
g 7 & 35 35 3%
B 57
89
32
N 135

32
Ans: 1—m
315

Question 44

https://www.classmarker.com/a//tests/test/?test_id=1791263

ClassMarker - Manage Test

Primary 6 Math » Primary 6 Math (Prelim)

1 pt
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be faund?

ClassMarker - Manage Test

in which of the following can the ama of the shaded face of the cubaid

Valurme = 100 cmet Volume = 240 cm?

acm

Cubood A

Voiume = 400 cm?

Cubaid C

Accepted answers:
¥ Cuboid B
v' B

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,883

Correctly answered feedback

240/6 =40
Ans: Cuboid B

Incorrectly answered feedback

240/6 =40
Ans: Cuboid B

Question 45

https://www.classmarker.com/a//tests/test/?test_id=1791263

Ans: Cubodd

Primary 6 Math » Primary 6 Math (Prelim)

3 pts
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Mr Lee has a lolai of 36 coina.  They consist of only 20-cent, -50-cent
and $1 goins. He has twice as many 31 coins as 20-cant codns,.  The
tolal value of the 50-cant cains is $4.40 more than the fotal value of the
20-cent oodng,  How many §1 coins does br Lee have?

Accepted answers:

v 16

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,884

Correctly answered feedback

| No.od$1 | Total Fho.pi2k | Total | MNa.of Towal | Bifference | Check
| dofiar valug et i vl | SOcont | it walugs of
Codny oilns coiny | Mot |
i | cairs and
| 'ill S0-cent
) A B o coiry
| 6 | 35 | & | somo 7| s13s0 | snoe |
| 32 412 6 | s | 18 | %9 &80 | =
T 418 i 51.60 12 88 | cad0 | ¥
Ang: 16 E - B

Incorrectly answered feedback

| No.ol$1 | Total [ho.pi2® | Total | Ma.of Towal | Bifference | Check
| dofiar walug it valise | SOcont | yitueh i values of
i cilns EoEng | Hl-gent |
E | tairs and |
| I CINTTR ]
L6 [ 5% | 3§ | co60 77| s1asp | s1200 “
[ 12 412 6 | s 1T 18 | & 4380 | =
T 518 8 51.60 12 s | sa40 | v
Ans: 16 : - -
Question 46 Primary 6 Math » Primary 6 Math (Prelim)

https://www.classmarker.com/a//tests/test/?test_id=1791263

3 pts
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Town P was exactly haifway between Town M and Town N, At 08 00,
Mancy started travelling from Town M lo Town N while Sen Joon started
travelling from Town N to Town M. Nancy travelled at 50 mvmin whils
Sen Joon travelled at 80 mimin.  They did not change their speeds
throughout the jowmey.  When they passed each other, their distance
from Town P was 120 m. Al what time did Seo Joan reach Tows M?

Accepted answers:
v 0813

v 813

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,885

Correctly answered feedback
(120x2) = (80—-50) =38
8= (504 80) = 1040
1040 - 80 = 13
Ans: 08 13

Incorrectly answered feedback

(120x2) = (80—-50) =8
8 x (50 + 80) = 1040
1040 - 80 = 13

Ans: 08 13

Question 47 Primary 6 Math » Primary 6 Math (Prelim) 2 pts

How many common factors do 16 and 20 have?
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Accepted answers:
v 3

¥" 3 common factors

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,886

Correctly answered feedback

16:1x16,2x8,4x4
20:1x20,2x10,4x5

Ans: 3

Incorrectly answered feedback

16:1x16,2x8,4x4
20:1x20,2x10,4x5

Ans: 3

Question 48 Primary 6 Math » Primary 6 Math (Prelim) 3 pts

Ashlay and WWei Shan have the mass of 43.3 kg each. The mass of
Barnadatte iz 1.8 kg less than the average mass of Ashley, Wei Shen
and Bemadetle. Find the total mass of Ashley, Wel Shen and
Hemadeatis.

Accepted answers:
v 1272
v 127.2 kg

v 127 2 kg

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,887

Correctly answered feedback
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43.3x2=86.6
86.6—-1.8=84.8
84.8B+2=42.4
42.4 %3 =127.2

ClassMarker - Manage Test

Incorrectly answered feedback

43.3x2=86.6
86.6—-1.8=84.8
84.B+2=42.4
42.4 %3 =127.2

Question 49 Primary 6 Math » Primary 6 Math (Prelim) 2 pts

The parimeter of reclangle ABCD is 12 om more than that of rectangie
AMMD. The area of ractangie MBCN is 54 em?,

E F

A n =
|

Find the length of AD.
Accepted answers:
v 9
v 9cm

v 9cm
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Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,888

Correctly answered feedback

12/2=6
54/6=9cm

Incorrectly answered feedback

12/2=6
54/6=9cm

Question 50

Primary 6 Math » Primary 6 Math (Prelim)

The parimeter of rectangle ABCD is 12 ¢m more then that of rectangle
AMMD.  The area af ractangie MBON = 54 cm?,

E
A nd = £
|

H lg

The parimater of square EFGH s 12 times tha length of AD.
Usza the calculatar value of = to find the area of the crels which
touches the 4 sides of square EFGH, comract o 1 decimal place.

Accepted answers:
v 5726
v 572.6 cm

v 572.6cm

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,892

https://www.classmarker.com/a//tests/test/?test_id=1791263

3 pts
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Correctly answered feedback

9x12=108
108 /4 =27
2712=13.5
value of pie (3.14) x 13.5x 13.5 =572.6

Incorrectly answered feedback

9x12=108
108 /4 =27
2712=13.5
value of pie (3.14) x 13.5 x 13.5 =572.6

Question 51 Primary 6 Math » Primary 6 Math (Prelim) 2 pts

hMdm Ler, Mr Chan and Mdm Ng bought some blue and some yellow
highlighters. Each bive highfighter cost $0.30 more than each yellow
highlighter. The table below shows number of highlighters each of them

bought for sach colour.
o Mumber of blue Mumber of yellow
highfighters bought | highlighters baught
Mdmn Ler 10 17
Wir Chan . . 20
Mdm Ng 12 15

Mdm Ng spent an equal amount of money on the blue highlighters and on the yellow highlighters. How
much did each blue highlighter cost?

Accepted answers:

v $1.50
v $1 .50
v $1.50
v $1.50
v $1.50
v $1.50
v $1.50
v 15

v 1.50
v 1.50

¥ 1.50
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Question Type: Free Text

Date Added: Mon 2nd Aug 2021

Last Modified: N/A
QID#: 28,593,889

1u-%0.30 =1y
12u = 15y

12u =15 (1u - $0.30)
12u = 15u - $4.50
3u = $4.50
1u=$1.50

1u-%0.30 = 1y
12u = 15y

12u = 15 (1u - $0.30)
12u = 15u - $4.50
3u =$4.50
1u=$1.50

Question 52

Correctly answered feedback

Incorrectly answered feedback

ClassMarker - Manage Test

Let the cost of the blue and yellow highlighter be 1u and 1y respectively,

Let the cost of the blue and yellow highlighter be 1u and 1y respectively,

Primary 6 Math » Primary 6 Math (Prelim)

hMdm Ler, Mr Chan and Mdm WNg bought some blue and some yallow
highlightars. Each biue highfighter cost $0.30 more than each yellow
highlighter. The table below shows number of highlighters each of them

bought for sach colour.
o Number of blue Mumber of yallow
highfighters bought highlighters bougrit
Mdm Ler 10 17
Wir Chan T . 20
Mdm Ng i 15

on the highlighters.

Accepted answers:
v’ $0.90
v $0.90
v’ $0.90
v $0.90
v $0.90
v $0.90

v $0.90

https://www.classmarker.com/a//tests/test/?test_id=1791263

Find the difference between Mdm Ler's total spending on the highlighters and Mr Chan's total spending

2 pts
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Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,864

Correctly answered feedback

($1.50 x 10) + (1.20 x 17) = $35.40
($1.50 x 7) + ($1.20 x 20) = $34.50
$35.40 - $34.50 = $0.90

Incorrectly answered feedback

($1.50 x 10) + (1.20 x 17) = $35.40
($1.50 x 7) + ($1.20 x 20) = $34.50
$35.40 - $34.50 = $0.90

Question 53 Primary 6 Math » Primary 6 Math (Prelim) 4 pts

At 3 forist, there was a total of 3816 orchids, Llips and roses.  Tha ratio
of the number of archids to tha number of lukips was 3 : 5.  After 405 of

1
the archids, 3 of the wlps and 25% of tha roses ware old, thers wera

2644 flowars lafi in the end.  How many orfchids were there in the florisd
at first?

Accepted answers:
1020

1020 orchids
1,020

1,020 orchids
1, 020 orchids
1,020 orchids
1, 020 orchids
1020

1 020 orchids
1,020

1,020

R N T T e e e U N A

1,020
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Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,890

Correctly answered feedback

15u + 25u + 4p = 3616
40u + 4p = 3616

120u + 12p = 10848

9u + 20u + 3p = 2644
29u + 3p = 2644

116u + 12p = 10576
120u - 116u = 4u
4u=10848 - 10576 = 272
1u =168

68 x 15 = 1020

Incorrectly answered feedback

15u + 25u + 4p = 3616
40u + 4p = 3616

120u + 12p = 10848

9u + 20u + 3p = 2644
29u + 3p = 2644

116u + 12p = 10576
120u - 116u = 4u
4u=10848 - 10576 = 272
1u =68

68 x 15 = 1020

Question 54 Primary 6 Math » Primary 6 Math (Prelim)

A tank is empty ai first, It takes 12 minwtes 1o il up the tank complately
with Tap A alone. It takes 8 minutes ta fill up the tank complatehy with

Tap B alone.  Starting wilh an emgly tank, how long does it take for both
faps together 1o Bl nalf of the tank?

Accepted answers:

v’ 2.4 min

v 2.4 minutes

v’ 2.4min

¥' 2.4 mins

v' 2.4mins

¥ 2 .4 min

¥ 2 .4min

v' 2 4mins

v 2 4 mins

https://www.classmarker.com/a//tests/test/?test_id=1791263

2 pts
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Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,891

Correctly answered feedback

An ¥Yminute,
Tap A {‘:\ﬂs\%‘u‘.\‘ the tank.
' 1
Tap B #ilis - of the tank.
-
Taps Aland B fill - of the tgnkl

Time thken = 1—

I

]
2 2%
1,24
2T
2. 4min

Incorrectly answered feedback

An ¥minute,
fap A {‘:\"s]l?‘uf the tank.
' 1
Tap B *Ils 5 of the tank.
o5
Taps Aland B fill - of the tank

Time thken = - + —

B | e
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Question 55 Primary 6 Math » Primary 6 Math (Prelim) 2 pts

In the figure below, WXYZ is a square. The shaded parts A and B are
two squares with different areas.  All lhe comers of sguares A and B e
gither on the sides of square WXYZ or on the lines WO and XZ.  What
fracticn of the sguara WXYZ is shadad?

Accepted answers:

¥ 1-Mar

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,593,893

Correctly answered feedback

i 9=B6
2
| 5

=

L
Ans.g
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Incorrectly answered feedback

a9 =B6

2
Ty

i

=
4

Ans :

www.classmarker.com
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